MEEEQD =46, Z0A=4) AIl'TALC

5V&5

0 %
BE 5V110-M5/5V120-M5[5V130]-M5/5V110-06/5V120-06/5V130[1-06
BEOR bE1] HS=HS=H5=M5 HS=H5=H5=PT1/8
BUEBDR 5V110-06,5V120-06:10.2mm’(Cv=0.6)
(CVE)[7F4] 5V130C-06:8.6mm’*(Cv=0.51)
E2 (g) 120 176 200 120 175 200
RS 5V210-06| 5V220-06 | 5V230]-06|5V210-08/5V220-08/5V230[1-08
BEOR [E1] HE=HS=H=5=PT1/8 HS=H5=PT1/4 HS=PT1/8
BREER 5V210-08,5V220-08:17.0mm’(Cv=1.0)
(CVE)[F4] 5V230C-08:13.6mm’*(Cv=0.8)
53 (9) 220 320 360 220 320 360
BS 5V310-08| 5V320-08 | 5V330[]-08/5V310-10/5V320-10|5V3301-10
BEOR HE=HS=H5=PT1/4 HS=HS=PT3/8 HS=PT1/4
BWEBER 5V310-10,5V320-10:31.6mm?*(Cv=1.85)
(CVE) 4] 5V330C-10:23.0mm’(Cv=1.35)
= Bz (9) 310 [ 400 450 310 [ 400 450
Gl S DD ) D ) 3R
_— s 5V410-15] 5V420-15| 5V4300]-15
" e BEOE Ao =FE==PT1/2
,m@ o\ [[[ [ N 5V410-15:48.0mm?*(Cv=2.82)
APS RPS %’%@E 5V420-15:48.0mm?*(Cv=2.82)
30C 30E 30P V= 5V4300‘-15:40_0mm2(cV:2_35)
28 s f BE (9) 590 720 770
NI A M A AT BaEIRER2 ) S}
FIEH A0 A0=M1 HO_fu | AO=01
TENR Z5(E40 p mELEBRDIR)
TETDI R AFBS IS
-] BREEE 0.15~0.8MPa(21~114psi)
RIEMY A 1.2MPa(175psi)
it i)
_ . BE —20~70°C
1\ RIS, TIFNEE: TRIDBDE; %L’Eg}; o=
20 WIRBBH, ESREDPRE, ESTSRSERHK N [Eg] pNE
TR TIEROT; . A
. ' _ 1] BEFRBPTFIHILE,
3 BERSH, BIME, RURE: SSORESESRT () nanmEs, PEATEL, EWIBENISO VeI NEARD.
ragvif== 03] REEME AN TEHIRT .
4, =N BBHWRB=FPDPRINVEETHRE,; WK _(1EDBUR U4 BREBERACVEZ2IKBINREMEITESE,.
I=E=hlvan)--H
5. RLEKMBBHRIZNTI, EER/N, BRSER, BA5
s
6. ISHEENRG, DawEen, weFneE, ATe BEESH
] s H
IrEBE AC220V | AC110V | AC24V_ [ DC24V | DCi2V
P ESEE AC: +15%~-10% DC: +10%
FEBE 2.0VA \ 1.6W
RSN [N
MRER F
BRI =3
AT 95
5V 2 10 08 B 050 []
DHERES DRINKS QmEAR [ 1=k EfriERE OimF &K DB
M5: M5 Vsl davis]
: 7N ‘ .
1: 100751 10: W BT 06: 1/8" A: AC220V
. 20: WIEWBE 06: 1/8" B:. DC24V
5V %SE%E\E{%@ 2: 20035 30C: =MIEWEBRPLFEHE |o08: 1/4° C. AC110V 080: 9.5m e P
- 3. 300255 30E: =[N/ EWBEPIHSE |08 1/4" E. AC24V C ==
; “ 30P: —{UBNBEPLENE |10: 3/8" F. DC12V
4. 400Z5 15. 1/2"

L



MEEEQD =46, Z0A=4) AIl'TALC

5V&5

B B
5V110 S, 5V110-06
0.7 ——
@0.6 T
So05 —
0.4 <9
0.3
" ™~
0.2 N
g 0.1
B0
0 200 400 600 800 1000 1200
mE  (L/min)
S, 5V210-08
0.7 —
& 0.6 —
= 05 ]
0.4 -
= 0.3 I \
P -~ N\
0.1
= —~ \
0 400 800 1200 1600 2000
mE  (L/min)
S, 5V310-10
0.7 —
© 0.6 7
= 05 —
0.4 —
~ 03 ]
M 0.2 — \
B 0.1
et 0 —
0 400 800 1200 1600 2000 2400 2800 3200
m™e  (Lmin)
WS, 5V410-15
0.7 ———
I—
& 0.6 —
= 05 —]
S| Z% |FS| &R | FS| AR 04 | Tl ™~
1 S 7 iy 13 INER 003 I —
2 Bk 8 0% 14 pE H o, —
3| SISEK | 9 IVEE | 15 SBE Eon -~ \
4 505 [ 10| ke | 16| EIE 0 ANER \
5 KEE 11 IRE] 17 SIFE 0 500 1000 1500 2000 25003000 350040004500 5000 5500 6000
6 7N 12 S 18 = Mg (L/min)
&1 BROARSENAIRTACKIIENTE,
iy 9]
RESEA

.

SHSBWRIIIDEGER, B, URERBUIRIRA;
2. RBBESRIBEBTHMZEERBEIRN, D290, BESR, UeRIERBERIRA;
3. BANBEZEEFRARBHWR, WREIISIRTSMIRLM2.5x 1945, 1EMA0.4~0.45N.mDIBEKBEITE;
4 KT FDiRfE.
4.1, FENRIERY, EAMALRRG D ONNEREE R TIEN;
4.2, FUEEEEMDE: BELSOG T HERGR)
4.3, RER TORNENEBDZE:
BRBEESL SRk, BARE, NSIEMHERERVERDEBD.

7

== [ .
0 T = mramEy. BRORELNEETENE: 0.1N.m), a~ EBRST
PUSH PUSH
LOCK LOCK
DBRT HEERT TEHFR

5. MFELETA: BEEMIASVIRIARAE—TEERS, (KXFEATE, ZLRRBARIET,

L



MEEEQD =46, Z0A=4) AIl'TALC

5V&5

SN EB XL 4%
s5v10000 5 BX\ES | A | B [BA| C P [PA[PB| PC|[PD| a
5V110M5 | 98.5| 44 | 27 | 18 [M5X0.8] 32 | 14| 25 | 0 [M5X0.8
m 5V11006 | 98.5| 44 | 27 | 18 | PTi/8 | 32 [ 16 | 24 | 3 | PT1/8
= 5V21006 [107.5] 44 | 35 | 22 | PTi/8 | 36| 18| 27 | 0 | PTi/8
= 5v21008 [107.5] 44 | 35 | 22 | PT1/4 | 36 | 21 [ 2555| 3 | PT1/8
i — 5V31008 | 128 | 46 | 40 | 27 | PT1/4 [465] 22 [355| 0 | PT1/4
L |2-0 L \ 5V31010 | 128 | 46 | 40 | 27 | PT3/8 |465| 24 [ 345| 4 | PT1/4
\\, w 2-05 5V41015 | 1569 | 50 | 50 | 34 | PT1/2 | 62 | 36 | 44 | 4 | PT1/2
IS O 7 I B R a7 &
/] & o BX\%= [0A[ aB| R [RA[RB| RC| s [ SA| sB | sC
< e o | < < Tl 5V110M5 | 27 | 18 | 33| 30 | 17 | 13 | 33| 14 | 25 | 95
g [ < e« “ 5V11006 | 28 | 185] 3.3 | 30 | 17 | 13 [ 33| 14 | 25 | 95
é} < Y ] 5V21006 | 36 | 18 | 3.3 | 38 | 17 | 17 | 43 | 20 | 26 | 105
YIAZA (i @ m*@ e 5v21008 | 36 | 18 | 3.3 | 38 | 17 | 17 | 43| 20 | 26 [ 105
o ] o 1 5V31008 | 45 | 24 | 43 | 50 | 21.6] 20 | 43 | 24 | 345][ 135
R‘C s 5 o5 5V31010 | 45 | 24 | 43 | 50 | 21.5| 20 | 43 | 24 | 345] 135
== 5V41015 | 63 | 305| 43 | 72 | 26 | 27 | 55 | 28 | 48 | 175
c BA RC,
5V[J200]000
m MA\E= | A | B [BA| C P PA[PB| PC [PD] Q
=ﬂf%= 5V120M5 | 133 | 44 | 27 | 18 [M5X0.8]66.6] 14 | 59.56| 0 |M5X0.8
i o 5V12006 | 133 | 44 | 27 | 18 | PT1/8 |66.5| 16 | 68.5| 3 | PT1/8
S - 03 5V22006 | 143 | 44 | 356 | 22 | PT1/8 [71.5] 18 [62.5| 0 | PT1/8
L5 p ‘ 7 5V22008 | 143 | 44 | 35 | 22 | PT1/4 |715] 21| 61 | 3 | PT1/8
“@ a 1 / 5V32008 | 163 | 46 | 40 | 27 | PT1/4 |815| 22 | 705 0 | PT1/4
! & 5V32010 | 163 | 46 | 40 | 27 | PT3/8 |81.5| 24 [ 695| 4 | PT1/4
< & o | < < 5V42015 | 194 | 650 | 50 | 34 | PT1/2 | 97 | 36| 79 | 4 | PT1/2
' ™
A BX\S [ QA [ aB| R [RA|[RB| RC| s | sA| sB | sC
A 5V120M5 | 27 | 53 | 3.3 | 30 |515| 13 | 33 | 14 | 595]| 95
\ | 5V12006 | 28 | 525| 33 | 30 |51.5| 13 | 33 | 14 |595| 95
i & @ 5V22006 | 36 | 53.5| 3.3 | 38 | 525 17 | 43 | 20 | 61.5| 105
g %E" ] 5V22008 | 36 | 535| 3.3 | 38 |525| 17 | 43 | 20 | 615|105
o 5V32008 | 45 | 59 | 4.3 | 50 | 56.5| 20 | 4.3 | 24 | 695|135
= 5v32010 | 45 | 59 | 43 | 50 |56.6| 20 | 43| 24 |[69.5] 135
LuJ & 5V42015 | 63 | 655| 43 | 72 | 61 | 27 | 65 | 28 | 83 | 175
RC, BA
c B
5V[J30C(E\P) ][]
(1 —
m%=
\ ) , 0 — BX\ES | A [B[BA| C P PA [ PB| PC [PD] @
A L | 9_0S 5V130CIM5 | 146 | 44| 27 | 18 |[M5X0.8] 79.5| 14 | 72.5| 0 |M5X0.8
rl\’ 3_p - 5V130[J06 | 146 | 44| 27 | 18 | PT1/8 | 79.5| 16 | 71.5| 3 | PT1/8
QW o Il | / 5V2300106 | 162 | 44| 35 | 22 | PT1/8 | 90.5| 18 | 81.56| 0 | PT1/8
‘ = 5V230108 | 162 | 44| 35 | 22 | PT1/4 | 905 | 21 | 80 | 3| PT1/8
g . ® < 5V330(108 | 182 | 46| 40 | 27 | PT1/4 [100.5| 24 | 89.5| 0 | PT1/4
&(Q | < 5V330(110 | 182 | 46| 40 | 27 | PT3/8 [100.5| 24 | 88.5] 4 | PT1/4
@G ) 5V4300115 | 215 | 50| 50 | 34 | PT1/2 | 118 | 36 | 100 | 4 | PT1/2
BX\%=S [oA[aB| R [RA[RB|[RC| s [ sA| sB | sC
5V130IM5 | 27 | 66 | 3.3 | 30 | 645 13 | 3.3 | 14 | 725 95
‘ < o 5V130(106 | 28 | 65.5| 3.3 | 30 |64.5| 13 | 3.3 | 14 | 72.56| 95
@ \ | Z 5V230(106 | 36 | 72.5| 3.3 | 38 |71.5| 17 | 43| 20 | 80.5| 10.5
o ; 5v230108 | 36 | 72.5| 3.3 | 38 [71.6| 17 | 43| 20 [80.5| 10.5
%g: 5V330(108 | 45 | 78 | 4.3 | 50 | 75655| 20 | 4.3 | 24 | 885/ 13.5
l 5V330(110 | 45 | 78 | 4.3 | 50 | 76.5| 20 | 43 | 24 [ 885/ 13.5
H_‘L,J 'S¢ 5V430(115 | 63 | 86.5| 4.3 | 72 | 82 | 27 | 55| 28 | 104 | 17.5
RC, BA
c B

A



	页 1
	页 2
	页 3

